Unit 4 — Prove/Justify Geometric Statements Name:@ Date:
1. What kind of reasoning is used to build and support an argument off of true statements?
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2. What kind of reasoning is based off of looking at a pattern and thinking something to be true?
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3. List the postulate described by the given examples below:

a. AB+BC=AC SE&M&UT A’DD(‘HNJ‘BSTU‘—A’TE

b. m<JKL + m<LKM = m<JKM /41\1611,6 /QADJT/BM PL‘STULH—'FE

4. Select all that apply: Once a theorem has been proven, we...
a. Need to prove it again next time we use it in a proof
b. Never have to think about it again
@ Can use it as a “Reason” as many times as we want
d. Need to prove the converse (that it works in the opposite direction as well)
5. Given two intersecting lines as shown in the diagram, which conclusions can be drawn? Select all that apply.

a. m<l=m<2

<1 and <3 are vertical angles

( e. ‘) <2 and <3 are supplementary

6. Fill in the correct reasons for the statements below:

Statements Reasons

1.4x — 7 = 2x + 3 /1. Given equation
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7 —9. Complete the proofs below.
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Prove: PQ = RS a
Statements Reasons
a. PR = @S a. (Gwed

b.PR = @8
c. PQ + @R = PR
d QL+ £S5 = QS

b. Desinirors o8 (Con QRuENCE oF SEGMENTS
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d. Segment Addition Postulate

f. PQ = ¥38 f. Subtraction Property
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Given: «1 and £2 form g linear pair
<1 and £3 cre supplementary
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Prove: 22=.,3
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2. 2l ond £2 arz supplemeniary
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3. mel +me2 = 1807
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4. £t aond £3 ars supplemaniory , C‘{N Sl
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Given: £« TVK is a right angle. )
Prove: 1 is complementary to Z2.

Statements Reasons

l. £TVK s aright angle |\. Gued

2. m<LTVK = F0° 2. Deenirngs o agur AuGLE
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